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greement is caused by coercion, fraud or misrepresentation, the

When consent to an a
agreement is a contract _____—— whose consent was S0 caused.
(A) Legally enforceable

(B) Valid

(C) Void ab initio

(D) Voidable at the option of the party

The IGST Act of 2017 covers

(A) India as a whole except Jammu and Kashmir

(B) India as a whole

(C) India as a whole except Jammu and Kashmir and Chandigarh

(D) India as a whole except North-Eastern States

Section 203 of the Companies Act, 2013 deals with the appointment of a
(A) Trustee (B) Promoter

(C) Director (D) Company Secretary

Consider the following statement about the RTI Act 2005 and select one which is not
provided for or specially exempted :

(A) Removal of Chief Information Officer.

(B) Every Information Commissioner shall hold office for a term of 5 years or till the age
of 65 years, whichever is earlier.

(C) It is not applicable to the State of Jammu and Kashmir.

(D) An applicant making request for information will have to give reasons for seeking
information.
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5. Goods displayed in a shop with a price tag

B) a counter offer
(A) an invitation to offer (B)

; o (D) promoting sales
(C) an ofter

6. Consideration should be something in return of promise which :

(A) Only adequate value necessary
(B) Only the parties regard some value
(C) Only law regards as having some value

(D) Both the law and parties regard, as having some value

7. The term consensus ad idem means
(A) Reaching an agreement |
(B) Meeting of the minds upon the same thing in the same sense
(C) General consensus

(D) Agreeing on the terms

8. Which one of the following does not contribute to overall revenue under GST ?

(A) Goods or trade supplies that are exempt, or both
(B)

©
(D)

The value of inbound services on which reverse fee tax is charged
Export of commodities, services or a combination of the two

Supply of commodities or services between States, or both

9. Goodwill of the partnership business is the property of the partnership

(A) under Section 14 (B) under Section 15

(C) wunder Section 16 (D) under Section 17(b)
10. The share capital of a company may be reduced

(A) by an ordinary resolution

(B) by a resolution of the Board of Directors

(C) by special resolution

(D)  with the permission of the Company Law Board
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11. Which of the following is/are not a revenue receipt ?
il Compensation received for the loss of a capital asset.
ii. Compensation received for damage to or loss of a trading asset.
{ii. Profit on purchase and sale of shares by a share broker on his own account.
v, Income from letting out building owned by a company to its employees, etc.
(A) 1ionly | (B) i and ii both
(C) 1,11 andiil ‘ (D) 1and i

12. Which of the following additional incomes will not be treated as agricultural income under
the Income Tax Act, 1961 ?

(A) Additional income from selling dried-up tea leaves as compared to raw tea leaves.
(B) Additional income from selling cured tobacco as compared to green tobacco leaves.
(C) Additional income from selling dried-up coffee as compared to raw coffee.

(D)

Additional income from selling ginned cotton as compared to unginned cotton.

13. The Gross Annual Value is the higher of Actual Rent and
(A) Expected Rent (B) Standard Rent
(C) Fair Rental Value - (D) Municipal Valuation
14. Preliminary expenses under Section 35D, qualifying so, would be deductible in equal
instalments. :
(A) Five (B) Seven
(C) Ten (D) One
15. Which of the following is not a requisite for charging income-tax on capital gains ?
(A) The transfer must have been effected in the relevant assessment year.
(B) There must be a gain arising on transfer of capital asset.
(C) Capital gains should not be exempt under Section 54.
(D) Capital gains should not be exempt under Section 54EC.
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16. Carried forward losses of normal business can be set-off against other income in subsequent
assessment year except
(A) | Income from speculation business
(B) Income under the head House Property
(©) Income under the head Other Sources

(D) Income under the head Salaries

17. Deduction under Section 80E can be claimed for interest on loan for
(A) Any course of higher education
(B)  Only Graduate courses

(C) Only Post Graduate courses

(D) Any‘course of study after passing the Senior Secondary Examination or its equivalent

from any recognised school, board or university

18. Share in the profits of the firm is taxable in the hands of partner under the head
(A) Exempt from tax (B) Income from other sources
(C) Business and profession A (D) Salary

19. Provisions of Section 115JB are applicable in case of

(A) Foreign companies only (B) Domestic companies only

(C) - All companies ° (D) Closely held compaI;ies

Interest on deferment of advance tax is levied under :
(A) Section 234A of the Income Tax Act, 1961

(B) Section 234C of the Income Tax Act. 1961
(C)

Section 234B of the Income Tax Act. 1961
P (D)

Section 201A of the Income Tax Act. 1961
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22.

Transition economies are :

(A)

(B)
©

(D)

) bid : ic system to
Certain economies which are in transition from centralised econom 0
ertai ) v :

market economy.
‘ iti ' market economy.
Certain economies which are in transition from market demand to y
i it ' ket trend.
Certain economies which are in transition from supply sectors to mar

Certain economies which are in transition from monopolistic to duopolistic economy.

The drivers of globalisation include :

1.
1.
1.
v.

V.

Growth of MNCs
Private Law

Growth in FDI
Regional Integration

Establishment of WTO

Select the appropriate ones :

(A)
(C)

""" (B) 1,11, ivand v
1,11, 1v and v (D) 1,11 andv

Which of the following is not derived from globalisation ?

(A)
(B)
(C)
(D)

Competitive process
The need to gain economies of scale

The fragmentation of consumer taste between countries
Immigration control

24. The theory of relative factor endowment is given by

, 2

(A) Adam Smi

) Smith (B) David Ricardo

(C) F.W.Taussig i

: (D) Ohlin and Heckscher
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25.

Globalisation refers to

(A) Lower income worldwide
(B) Global warming
(C) More integrated and interdependent world

(D) Higher income worldwide

26. refers to the investment in a foreign country where the investor retains contr ol
over the investment.
(A) FII | (B) Portfolio Investment
(C) Investment in GDR ' (D) FDI
27. Which one of the following is not a type of “Balance of Payments” %
(A) Current and Capital accounts (B) Commodity account
(C) Current account (D) Capital account
98. Match List I with List II and select the correct answer using the codes given below the lists
List I List IT
a. World Bank ir 1994
b. International Financial Corporation = ii. 1956
c. International Development Association iii. 1960
d. Degree of Absolute Advantage Wl 0.0
Codes:
a b c d
(A) i ii 1 v
(B) i Wi v i
(@) 40 1 iv il
T ST
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29. Which of the following is a function of UNCTAD *

(A) To promote international trade
(B) To negotiate multinational trade agreements
(C) To formulate principles and policies on international trade

(D) To restrict international trade

30. Which one of the following is reserved as a predecessor to WTO ?
(A) IMF . (B) World Bank
(C) OPEC (D) GATT

81. Social Income Statement reveals social benefits and costs to the staff, community and

(A) Industry (B) Customers

(C) Government (D) General Public

32. A Cash Flow Statement reveals

(A) Cash profit (B) Net cash flow during a period
(C) Cash receipt alone (D) Cash payment alone
33. Match List I with List IT and select the correct answer using the codes given below the lists
List I List IT
a. ICAI 1. Income Statement
Z b. Interested groups in financial reportlng 1.  Standards
' c. Assumption of going concern iii.  Stakeholders
d. Multi step statement iv.  Future
Codes:

an et g
(A) i i1 111

iv
@ i
; (Y e
1% (et Ty 0 S T
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L hip of an
; i nd rewards incident to owners
34. A lease that transfers substantially all the risks a B
asset is called
i e lease
(A) Operating lease (B) Financ
' e
(C) Non-cancellable lease (D) Cancellable leas
P
35. Measurement of the value of human resources 18 based on the
(A) Future Profit Concept (B) Ownership Concept of an Asset
(C) Stock Concept in Accounting (D) Current Profit Concept
3
36. Match List I with List II and select the correct answer using the codes given below the lists. ;
List I List II
a. Value-based model 1. Labour intensiveness
b. Opportunity cost of human resources 1ii. Lev and Schwartz model
c.  Valuation of physical asset iii. Stock concept
d. A comparison of human capital with  iv. Competitive bidding method
non-human capital
Codes:
a''b j@.d
A 1 il iv
(B) i v i 1
(C)i 1V AT e
D) 1 ii i v
37. Cost of License appears in ¥
(A) Net Revenue Account (B) Cencral Balanco Sheot
(C) Re
# FERUe Accound (D) Capital Account
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provide for increase in monetary working capital necessitated.
Reason (R):  Price changes of inputs during the period.
(A) (A is incorrect, but (R) is correct.
(B) (A)is correct, but (R) is incorrect.
(C) ‘Both (A) and (R) are correct, but (R) is not the correct explanation of (A).

(D) Both (A) and (R) are correct and (R) is the correct explanation of (A).

39. Assertion (A): Holding Company pays excess price to acquire controlling interest in the
subsidiary company.
Reason (R):  Excess price paid can be transferred to the goodwill account.
(A) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
(B) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(C) (A)is correct, but (R) is incorrect. .
(D) (A)isincorrect, but (R) is correct.
40. Which of the following features are correct ?
i List E in Statement of Affairs gives the list of secured creditors.
ii.  Preferential creditors are shown in the Statement of Affairs under List B.
ii.  Consolidation of shares does not affect the amount of share capital.
iv. Capital reduction scheme is im
plemented only after gettin issi
Competent Court., P REson. iRt
(A) Onlyi,iii i
y i, iii and iv (B) Only i, ii and iii
(C) 1i,1ii,1ii and i
W (D)  Only ii, iii and iv
N
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41. A market demand schedule for a product indicates that
(A) As the product’s price falls, consumers buy less of the good.
(B) There is a direct relationship between price and quantity demanded.
(C) As the product’s price rises, consumers buy less of other goods.
(D) There is an inverse relationship between price and quantity demanded.
42. What is the fundamental premise of economics’ ?
(A) Individuals are capable of establishing goals and acting in a manner consistent with
the achievement of those goals.
(B) Natural resources will always be scarce.
(C) Individuals choose the alternative for which they believe the net gains to be the
greatest.
(D) No matter what the circumstances, the individual choice involves a trade-off.
43. Assertion (A) : Want-satisfying power of a commodity is called its utility.
Reason (R):  Utility may not have the characteristic of morality.
(A) Both (A) and (R) are correct.
(B) (A)is correct, but (R) is incorrect.
(C) Both (A) and (R) are incorrect.
(D) (R)is correct, but (A) is incorre(;t,
44. A business currently sellin i i
g 10,000 units of its product
ol pric p Pc.ar month, plans to reduce the
; ows from previous experience that the pyj gy
demand for this product is () 1.5 _ Price elasticity of
=) 1:5. Assuming no other changes, the sales th Y
now expect each month will be . ) S the business can
(A) 8,500 unit
BN (B) 10,500 units
(C) 11,000 units '
; (D) 11,500 units
SR S
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45. Which of the following statements 18 false

(A) A consumer has only one indifference curve.

(B) A consumer possesses & preference map.

(C) The marginal rate of substitﬁtion is equal to the magnitude of the slope of the
indifference curve.

(D) The diminishing marginal rate of substitution means that the marginal rate of
substitution decreases as more of the good 1s consumed.

46. The slope of an isoquant tells

(A) The decrease in capital necessary to keep output constant when labour increases by

one unit.

(B) The decrease in MPL when capital increases.

(C) The decrease in capital necessary to keep MPL constant when labour increases by one
unit.

(D)

The increase in output when both inputs are increased.

47. The economies and diseconomies of scale explain why the
(A) Short-run average fixed cost curve declines so long as output increases
(B) Marginal cost curve must intersect the minimum point of the firm’s average total cost
curve.
(C) Long-run average total cost curve is typically U-shaped
1 (D) Short-run average variable cost curve is U-shaped
{1
i 48. Which of the following features is common to both, erfectl
| P y competitive market and
monopolistically competitive market ? =
(A) Firms produce homogeneous goods
1
| B) ‘P ]
| (B) Prices are equal to marginal cost in the long run
‘ (C) Long-run profits are zerq
(D) Prices are ab i
OV€ marginal cost in the long run
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49. If the price of a good changes, but everything else influencing the suppliers’ planned sales
. e price )

remains constant, there 18

(A) Rotation of the initial supply curve around the initial price.
(B) New supply curve to the right of the initial supply curve.
(C) - New supply curve to the left of the initial supply curve.

(D) Movement along the supply curve.

50. When goods in a domestic market are sold at a high price and in the foreign market, at a
low price, it is a situation of

(A) Dumping : (B) Perfect Competition
(C) Oligopoly (D) Duopoly
51. Match List I with List IT and select the correct answer using the codes given below the lists.
List I List 11
(Functions of Financial Management) (Elements)
a. Cost of Control 13 Reduction in Price
b. Managing Assets ii.  Cost Increase
c. Raising of Funds iii.  Issue of Capital
d. Forecasting Cash Flows iv. Cash Mobility
v. = Forecasting
Codes:
a b c d
CNREaST -
(B) i IVE B

(G 1 b
(D) i 16 e

v
iii

52. Cost of Capital from all the sources of funds is called

(A)  Specific Cost (B)

(D)

Composite Cost
(C) TImplicit Cost

Simple Ave}'age Cost
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53. Which of the following terms is used to represent the proportionate R RNt cen

debt and equity ?
(A) Cost of Capital (B) Capital Budgeting
(C) Assets Structure (D) Capital Structure

54. Match List I with List IT and select the correct answer using the codes given below the lists.

List I List 11
a. Capital Budgeting | i.  Time adjusted Rate of Return
b.  Profitability Index ii. Irreversible
c. Internal Rate of Return iii. Benefit/Cost
d. Capital Investment Decisions iv. Planning capital expenditure
Codes:

a b c d
CORE RS
B) 1 VA e
U8, " iwg itk i
(1) i d Tl i
55. A firm has a philosophy that is analogous to hedging (maturity matching) approach. Which

of the following is the most appropriate non-spontaneous form for financing the excess
seasonal current asset needs ?

(A) Trade Credit (B) Currency Notes
(C) Accounts Payable (D) Common Stock Equity

56. Which of the following can be termed as the component of tota] portfolio risk ?

(A) Equal to systematic risk plus non-diversifiable risk

-
[ (B) Equal to avoidable rigk plus diversifiable risk
l . . :
| (C) Equal to systematic risk plus unavoidable risk
(D) Equal to systematic rigk pPlus diversifiable risk
14
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57.

58.

59.

60.

ti (AA) a ltal ACCOUIlt COII vertl lllt! is mt t; hen the exch
: Cap unt, W xchange

rate of the currency of a country is relatively stable.

‘hili ' faster owth a
Reason (R):  Capital Account Convertibility 1s necessary for 1a gr nd

development of the economy, and it makes foreign e fase more
stable.

(A) (A) is correct, but (R) is incorrect.

(B) Both (A) and (R) are correct, and (R) is the correct explanation of (A).

(C) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
(D) Both (A) and (R) are incorrect.

What is the popular term used for a type of option in Foreign Exchange Market which
provides the holder the right to purchase or sell foreign currency at the most favourable
exchange rate realized over the life of the option ?

(A) Forward Reversing Option

(B) Preference Option
(C) Lookback Option

(D) Basket Option

The full details for the issue of ADRs by a company must be furnished within 30 days from
the data of its closure to

(A) Securities and Exchange Commission (SEC)

(B) Reserve Bank of India (RBI)
©

Securities and Exchange Board of India (SEBI)
(D)

Company Law Board (CLB)

(A)

Fully reflect all relevant information, including insider information
(B) ;

The semi-strong form of the efficient markets hypothesis asserts that stock pri
prices
May be predictable.

(©)

Fully reflect all DUincly available information.
(D)

Fully reflect all historjcg] price information.
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5, 5,11, 9, 8, 5,87

61. What is the median of the sample

(A) 5
(C) 8

i : hich one of the following
62. If all the values of a variable are multiplied by a given number, W g

will not be asserted ?
(A) Median (B) Mean

(C) Coefficient of Variation (D) Range

63. Which of the following statements are correct ?

i, Correlation analysis helps in determining the relationship between two or more
variables. It does not reveal anything about the cause and effect relationship.

ii. The ratio of explained variation to the total variation is called the coefficient of

correlation.

lii. Pearsonian coefficient always assumes linear relationship and is unduly asserted by

the extreme items.

(A) iandii (B)" \nand iii
(C) 11 and iii (D) 1, 1ii and iii
In case of conditional probability (Aand B) = ?

(A) P(B) x P(A/B)

(B) PB) x P(A)
(C) PA) x P(B)

(D) P(A x B)
65. is the specification of
method iri
to structure or solve Problemg. e ke b oo
(A) Research Hypothesis B) R
| esearch D
| i (C) Research Problem ' D) R ol
| esearch Desj
1 Space fo &
{l " Rough Work / 2,g¢ay 6"03% P
| (&)
COM202301
(30-D1)

.,

CX Scanned with OKEN Scanner


Admin
Stamp


— Rk ¥

?A 5,11, 9, 8, 5, 8 &or0adh ITRO arecycy?

G B) 6
@ ° D) 9

;2-/ ZZoh3 oUy IPYMYRY WY Fosdbod HEIBS, B BUNRIVY IR
33DDTTNHZHY ?

A) YD (B) ®oemd
©) 3,008 rbmeos D) Bed

y./és YN Ao BeRBRW IO TAS?

i 3970 Rowodd JFeEsoy o0 eEm YW b SIS dowodas, IFFORL
JBoad ST, b 500 DR) BOHIRT BowoFH 2t OFT, VDD

I %) SBT3, IT0IT RCPRNA) ODTIBSI), BTH,3 FoOBT ME03 oW STDTTHIT.

li.  Sobeerdoda’ Mmeosdy aremeriews  Jedeod TowoBID, TRODBW D)  IB0e3
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A) iR B) iaa iii
(©) i DR iii D) i, ii DR ii

Md@uq Joz3Bech3ad Vo3 (A D3 B) = ?

(A) P(B) x P(A/B) , (B) P(B) x P(A)
(©) PA)xP®B) - (D) P(AxB)
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codes given below the listg
66. Match List I with List Il and select the correct answer from the
N | List 11
_ . : lin
a. Lottery method of selection of sample i M il T li
A o ; 11
Selecting sample from complete list and 1. Simple randor g
first item to be selected randomly and
thereafter to be related with evenly
spaced intervals.
¢. Sample to be selected from particular iii. Systématic random sampling
state of predetermined households.
Codes:
ao b ole
A 1 T
B u TT R
() . il
D 1 TR
67. Stratified sample is within and between the strata.
(A) Homogeneous, Heterogeneous (B) Homogeneous Independent
’ 101
(C) Heterogeneous, Homogeneous (D) Heterogeneous, Independent
) en
68. Statementl: The absolu.te value of the difference between an unbiased estj
: corresponding population parameter is called samplin sed estimate and the
. . _ e
Statement II : Multi-stage sampling is restricted no g rTOr.
‘ technique. n-probability-based sampling
(A) Both statements are correct.
(B) Both statements are incorrect.
(C) St i :
) atement I is correct, while statement II is incorrect
(D) Statement I is incorrect : '
orrect, while statement II is correct
69. Hypothesis cannot be stated in
(A) Question form terms
©) Genbiad (B)  Declarative termg
~ (D) Directi
rk / 2.0 3wxg 3
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70.

71,

72.

. i b
Wh ing 1 ¢ a kin of plagiarism !
' ong the following 18 1@ i
lchPartnl ; iting (B) Untainted Plagiarism
(A) Patchwriting e
(C) Accidental Plagiarism (D) Direct Plagi

; . ns advocated by them)
Match List I (Management experts) with List IT (Sequence of functio

i i lists.
and select the correct answer using the codes given below the

- List il :
bastl - : ntrollin
4 Newman and Summer i Organising, Planning, Leading an(.l Co e li .
b. Henry Fayol ii.  Planning, Organizing, Commanding,
‘ o and Controlling ' A )
¢. Luther Gulick iii. Planning, Organizing, Staffing, Directing and
Controlling
d. Koontz and O’'Donnell iv. POSDCORB

Codes:

a b c d
(A) 1 TR N T \
B3 s i T '
©C) 1 1 111

(D) & 3 v

v

i1

Rearrange the following steps of recruitment :
T Searching

ii.  Evaluation and Control

1ni. Planning

iv. Screening

v.  Strategy Development
(}(\:) 1.11, i, -1.,.v., 1?7 (B) Mityyeieiy=ij
(C) 1iv,wv,iil, i ii () ey v v, 11
73. Social loafing is a phenomenon whére
((:) group members work harder when they are part of a team
B) roup members exe
. . - rt i
i less effort when working collectively than wh
} en working
C) G i
4 Eroulp; memberg always perform equally in a team
v yWeases within a group
Space for Rough Work / WO g
A
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/0./@, BYARINYY AR & ooy Rowogse ?

(A) @ Tyedore (B) 84030k 8 3uPabr
)
(C) ©83 8 SePade (D) Red 83ePade

/3 1 (V@ 3pch) 0 863 11 (g, FEDDIG soaberiy erbE) deodrt deod i
SENY 3T RADS dpeaniyay YR
=

- &5 11
& SRR D) IDo i RO, aleeand, Fe3)3, by dabo e
b. B, Toadeeer 11. e,

R, @, Fabg o ) daboss

G ARgdc* s . e, Sogre3s, d2) 08, Aer 3 D) daboB;e
d o DB 4@ iv.  POSDCORE
BRTF NW :

a b c d
A 1 1 v i
B i i i v

T S
. i
P Sevmaab svn Borivay, Shaeod
A e
i BPOARSS ) dobodm
Hi.  odeens
. &edort
V. 303 0038
(A)  iii, ii, i, v, iv (B) iii, v, i, iv, ij

O v, v, iii, i, ii (O i

S DTesE SO (dpedort) oD 2033 GRS or3 ;

A oa3 BoR B0 werimRogr B, BdrbEd

- B) o3z I @ecery O 30T At S 3

e BabZ B Brec@0

bR B3mh olrezeriee SomBe ManRmn S0bF e by
rbodidert eutie e Sbaew BwYrHIE

b33 03 Dp®BTN Borg recdaen |
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: es given below t},
elect tile correct answer using the codes g1 _

74. Match List I with List II and S

lists.
ListI List 11
a. Planning i. Training
b. Staffing ii. Forecasting
c. Directing iii. Evaluating
d. Controlling iv. Motivating
v. Grouping
Codes:
ail b O ehuaed
(A). ., 11 i WV SV
(B)y & I v i il
(oD ey iv i
(1) U iii
75. Match List [ (Management experts) with List II (Sequence of function advocated by them)
and select the correct answer using the codes below the lists.
i List IT
% aoched sy of work .. Speed Boss
b. To see that work is completed in time 1. - Inspector
c. To check absenteeism of workers ii. Instructioﬁ C '
d. To issue instruction on method of work iv..... Disciplingy ard Clerk
Codes : £
a b
(A e reGi
| .
‘ © i, i sl
(D) v . il | i ‘
W 3
v %
COM202301
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il

es0d), 08

a3 1
a. 0
b.  dxod
¢. B3I
d  dobo3es
BReT N

a b c
' ) A g v
B il v 1
(EJ T TR | iv
(1)) TG i

R iy i i

7 3 T OF) 5 11 30000 @00Bd aia) svit dedds detaival wvddeoth FORE u3da)

11.

1il.

1v.

A s 1 (Qsrsm 3goh) ox 36 11 (63t 33040 Sabed ORbBED) Beod Boodd )
| BNV 3YNS BeeaTivR), w¥dER0E BOMRE VT, Bok,Ee8.

o6 1 33 IT
a. BT e ST, BOdedTed 1. Qe o’
b, BuxRy) S, BeertPNBE votd Feeden . 2, ZoF
C.  ZDe3T ri,d Howdobrb BO3ITe . Jewdoe sogee A ek
d.  B0x8 IR wrf WewsS JeBew ‘ V. Srvmeus >
Bewe
g b e d
LT R iv
s i i iV i
(L 3 111 v

&3 11
3Te3ed
BWMORE
VRPN
GINOI

NoR)rmed3

11
111

1ii

i1
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76. Equity theory suggest that employees compare their
(A) Salary with the industry average
(B) Effort and performance with colleagues
(C) Effort and performance with their own past achievements

(D) Job satisfaction with organizational policies

77. Methods of securing Workers’ Participation in Management involve

1 Co-partnership
ii.  Suggestion scheme

iii. Joint consultation
iv. Employee representation on the Board of Directors
(A) 1i,iiandiv (B) i, 1ii,iii and iv
(C) ii,iii and iv (D) 1i,iii and iv
78.

Which performance appraisal method involves comparing an employee’s performance
against specific job-related criteria ?

(A) Graphic Rating Scale
(B) Ranking Method

(C) Forced Distribution Method

(D) Behaviorally Anchored Rating Scale (BARS)

79. Assertion (A) : Classical organizations believed in the use

co-ordination.

of authority to achieve
Reason (R) :

(A)
(B)
(C)

_ (A)is i i
i meorrect, bt (R) is correct.

\ i (D) Both (A) and (R) are incorrect,.

. Classical thinkers consider organization is an o
(A) is correct, but (R) is incorrect. i
Both (A) and (R) aye correct.

\‘, Space for Rou
gh Work
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A) SYI LUTE T JTeB0 00

B) JFDT DR 6’3(11)?3?;&3(11)3& F‘dﬁfaedfaéeﬁﬁwao&ﬁ

(€) o T HoBS TogSriteodrt B3 Sz sobEERI

D) moﬁgé ednsdo o emdfaﬂm 3,3

}/ ABEBRADY SoDEST mrﬁdaoa’nasabai& DUBBRDSE AFoRINH YT, w¥reoBh3d3?
1. VD TVTOB

. OB e

. ot Iveeiped

. ABee333 SoBLLY eVeen 593G,

A iR iv B) i, i, ill DB iv
(©) . ii, il DR iv ) D) 1,1l DR iv

B s sobrgddar aPo@nss dmd B svdeei-Sowedd  anpsdesiv I
et eRab S0FERIBADR) BRODIBRY wrleoBILIT ?

(A)  MydT* Teedory I e

(B) 3eabeod g

(C) B33 IBTEHe TS

D) SBrSab e3pedne Secdort Jeef (BARS)

B G850 (A) : Teab Bogrivh FEIR 0 TIDTL BOZTT wYEME Rods 233,

| mon®):  zedcob dodsch Rogumobnl, Abg EY Ko Borrbmad.
(A) (A) 8BNS, (R) 39N,
. B) (A)zvE (R) o0we 3D,
(€ (A) 3T, (R) SOGNG. 1 \
D) (4) 2 (R) o0@e 33,
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80. The responsibilities of a change agent would include the de i
4 Help the organization define the problem -
ii.  Examine the causes of the problem and diagnose how bOHARET
i Arrive at alternative solutions
iv. Implement the chosen solugion ith future change
v, Transmit the learning process to allow the organization to degliwttn 1Y
(A) i, iiand iv (B) iii, ivandv
(©) 1i,ii, iii, ivand v (D) iiandiv

81. Identify the correct combination of statements with regard to banking in India :
i.  For many years the Presidency Banks had acted as quasi-central banks.
ii. The Bank of Hindustan was liquidated during 1829-32.
iii. General Bank of India was an unsuccessful bank and Wgs dissolved in 1971.
iv. Bank of Calcutta was renamed as Bank of Bengal in 1921.
(A) i,iiandiii (B) ii, iii and iv
(C) 1i,iiandiv (D) 1,1, iii and iv

82. Assertion (A): Most of the development banks in India have set up private commercial

banks after the introduction of capital adequacy normsg.
Reason (R) :  Development banks in India have not adhered to their bagic objectives.
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(B) Both (A) and (R) ztre correct, but (R) is not the correct explanation of (A)
(©) (A)is correct, but (R) is incorrect. :
(D) (R) is correct, but (A) is incorrect.
...
Space for Rough Work / 2,383 éoxg; ¢
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‘ Nd)méoi)&’\g( mé.mécbﬁw QO Bwaad @red

il RO SORNVRY A0 ) st aert dmBritess ORRBRY IPFAL
jii.  Solvorad SOBAOAVRY BordbBLS

iv. ez E’o@ﬁdd&i& Soaben3rin v

V. W0 udvsERaleodt 83508 dogaba, embadtw 808 Bgaobr ST,

Q) LD iv (B) ii, iv DD v

B 2R035Q w0801 RowoBATod Bedsriv wdars Soukeeedlabs rhh32 :
L 303 IRV 300 IAB) 239,08 ©93-Be0d, 239,08TI¥oN FoobEASFODST).
i 29,08 65 botown 1829-32 O eapubd Bosdaiedus.
Ui 2I0CF w905° &7° R0B0ire IF w90 BAR) ) 1971 8O ISR
v. mzsos‘ es® 80633353& 1921 ©® 239,05° e85° aa"omp‘ Q0T DDHTBTE ITTBETIAVR.

(A) 1,1 DD iii (B) i, iii D) iv

©) iiidx) iv (D), 1, ii, iii D) iv

B3 G300 (A) : woBEVE IDBFEF0b SNBOBTYR) BBUMAT BoBT wTBBOR B3
: 3 2,081 WO ekt WR0BTIVRY A,

'-: . CBBOR @2333,)@ m?soamw 3D, e ougded3nivrt a.)cgmﬁ?’_

) (A) s (R) o0de 90 ba (R) (A) S B80T dgdmatnd

e
N~

(A) 2 (R) o5@e A0S 633 (R) (A) 3 800ins Ozdeabe
©) (A) BBoRND, (R) 353N,
D) (R)bairend, (A) 3mNG.
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83. RBI replaced the Base Rate System with
B) BPL
(A) MCLR (B)
(C) BPO (D) BOP

84. The Foreign Direct Investment Policy in India is regulated by
(A) The Ministry of Commerce and Industry
(B) The Ministry of Foreign Affairs
(C) The Ministry of Finance
(D) The Ministry of Corporate Affairs

85. Identify quantitative credit control measures :

1. Bank rate
ii.  Credit rationing
ii. Open market operations

iv. Variable reserve ratio

V. Selective credit control

vi. Liquidity ratio

(A) i,i,iliandiv

(B)
(D)

11, iii, iv and v
(C) 1i,1iii, iv and vi 1, ii, 1ii, iv, v and vi
Which of the following are the functions of a financial system ?
i The operation of a payments system

ii.  Provides the meang of portfolio adjustment
1i. Helps to reduce unemployment
\ wv.  Channelizing funds between lenders and borrowers
: e

Helps speculatorg t, bet on price movements

(A) ii,iiland v

e
© 1l snde i ShE

-----

S (D)
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y«:/RBI 2100 BT BBV WBOD WIYTRY, $0rteLRT?
(&) MCLR 8) BPL
(C) BPO (D) BOP

/4/ 2590330 ABed 3 BBE SR, AohoGDID :
(A)  Doesy dm& éémba Jedead)
(B) ddezoort SBHOY 3o 0d
(C) DO J3yead)
(D) BeRprdees SBHoONY Tedzeer0dd

/85./ BOTeEm3,B Tow AhoBEd FTYRY DS :
18 239,03 (a]o}
il. v B33
. S8 o3, SoadrerICHRW
iv. SIS0 e DT3B
v. o)) 38 oo
vi. ©O388 w3
(A) 1, ii, iii DR iv (B)

ii, i, iv R v
(C) i, iii, iv D) vi (D)

i, ii, iii, iv, v ) vi
/G/é; BVN[YRYY BeazoD S3ob Zooberwd odreyey)?

i D33 FBI0D Hoadyoe30e

i, &peedn er030e BPOWEIBOD ammm& WBNDIT

iii.  Qhdeeras) 30D B JHood SreRIT

iv. o3 DA T TGS IS Sead«ﬁ) DR PDIT

v, 2380d BuUSTORINY eHed el B Jeamesont Izead DB
(A) ii, il DRV B) 1i,ii DR iv

(C) i,iiiaddRV D) i, iii DR iv
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; es given below the lists.
87. Match List I with List II and select the correct answer using the codes 8!

List I List I1 ;
(Name of Bank) (Year of Establishment)
a. IFCI i 1981
b. SIDBI i 1982
c. NABARD iii. 1948
d. EXIM Bank iv.' 1990
Codes :

a i ohooe d
A) i i Ay
@) W w oo
(@ L T 1 1

(D) Al

88. The Indian rupee is a fiat currency. What does this mean ?

(A) Tt is backed by physical assets like gold or silver.

(B) Itis not backed by physical assets, value is determined by supply and demand

(C) It is used only for international trade.

(D) Itis used for online transactions as digital currency.

Which organisation introduced the Basel Norms ?

(A) United Nations
(B) WTO

(C) Bank for Intei'national Settlements

(D) International Monetary Fund
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B IFCI AL
b. SIDBI b s
c. NABARD i, 1948
d  EXIM w05 iv. 1990
eTs R |
O
R i v
0 R T

By i i
B v i
BB 503e0b domads Loth Sabe 33901Ad. TEd e S ?
(A e 83 6Tz IYWBEB 283 63ri90s YordSmNG.

. B ao aP33 5Rriven YowdBmney, SRUER) 3e0,8 R BeBBMOT IS ORI,
| ©) sz Q.‘)OG?UEc.ﬁ ead) S99 ds o3, WHRNDHIT.

.
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T Rt Sere ) S0EMAE BoR R
cf)ﬁdﬁorg

WTO
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90. Match List I with List II and select the

List 1 :
(Financial Institutions)

List 11
a. Housing Finance Institutions i, . SEBL

b. Merchant Banking, VCF, Broking, ii. MCA
Collective Investment Schemes

correct answer using t

he codes given below the lists,

(Regulatory Bodies)

cen t
¢. Nidhi Companies, Mutual Benefit 1L State Governmen

Companies
d. Chit Fund Companies iv. National Housing Bank
Codes:
a b € d
() w n o 1 1ii
B) i 3 T
) w1 b
@) & « iv i i

91. Which of the following channel/s is/are related with Conventional Distribution Channels ?

1. Manufacturer - Customef (Cdnsumer)

ii. Manufacturer - Retailer - Customer (Consumer)
iii. Manufacturer - Wholesaler — Retailer — Consﬁmer
v.
v.  Manufacturer — Retailer - Consumer
vi. Manufacturer — Retailer - Wholesaler —» Consumer
(A) 1i,1ii, iii and vi

(B) 1i,1ii,iv, v and vi

(C) 1, 1ii, iii and iv

(D) 1,11, iv and vi

Space for Rough Work / 2.8ty geyxg
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2. SIS BRSO Forgrish i.  SEBI

b.  BeIFoLs w080rF VCF, ednedors, i,  MCA
TOR0bS BRBE Arensr |

. QB 303N, BBI3 eed BodAnw .

d 8 30T 3087w

Doty JEoET
V. 0adead SIS e39;05°
e NW:
a . b c d
[ i i i
B 0 i v
O T
e i
BT 39N aid R/ D0 medlE AB0E RN YowoBIEs ?
i Saeds - MyEs (WYEmO) B
ii.  Bawess — 2300 T > MBS (W¥EWaT)

iii. Soireds — ey D9,@e0 — B0 D0 - MyT3

iv. Baess > JIRed Dm0 — VT TN D0 — 803 D0 — TS
v. 3008 — B0 D@0 — e, ®3 :

~ vi. Baieos - B0 D@0 — M D@0 — My®3

) i 5, s vi |

i, ii, iv, v &) vi

i, ii, iii @) iv

i, iii, iv @& vi
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clect the correct answer using the codes g1V e

92. Match List I with List 1T and 8

List I Lisl, 11 A o
(Bases for Market Segmcn,tation) (Sub-divison of m

a. Geographic i.  Region

b. Demographic ii. Age

. Socio-Economic iii. Income levels

d. Psychographic iv. Compulsiveness
Codes:

a b ¢ d

(A) i TTRRAE T
B) 1 T | v
) 1 T | T

) iv i i

93. Typically, profit is negative in which stage of the product life cycle ?

(A) Growth (B) Maturity

(C) Introduction (D) Decline

94. The factors that contribute to priée sensitivity are
(A) Price-Quality effect (B) Industry
(C) Mission (D) Object
ia
95. Which method of settin; iSi
g the advertising budget of i :
g g get ol a company 1s considered to be the n
(A) All-you-can
afford method (B)  Objectives and task meth
(C) Percentage of sales method (M) iti B
, ompetitive parity method
Space for Rough Work / .8t $0x8 =y
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C. JoVBZ-BHEB iii.  esgeod SEINW
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BReT MW ¢

Qs e d
(A) 1 11 ELE
(B s
)
@)y ® T # it
_937 938TN, 0U3R, 2eST BT 03503 BoBBY Uerey W3, SNIIE ?
A) BB (B) B3
(C) =D (D) B33

& 230 g 3 BACHTIDS VoW

(A) 2S-THeET BOFHOD (B) ovgded
(C) BT (D) S

95— Bomdab albeTad LELF OR), AGFORWS 035 IFIRS), Bed, BgedsSomd FBrsRUIES

(A) ey adr SBUINHTER, AT (B)  ougdednisd R) Soohr I
(©) Brovees BeBEITID oS _ (D) JFF3,3 BRPIBab AR
oo i
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r-profit or non-business
h which ownership will

96. Statemen rvice fo
igni istri ' ystem for a serviC (
: Designing a dlStI‘lbutIO'n Sys !
: e context) involves selecting the parties only throug

pass.

Statement (II) : ~ The ownership channel .f01j most s
inseparability characteristic.

ices is long and complex because of
erv

rt of the seller.
Statement (III) :  Short channels usually mean more control on the pa

k . . These statements
Identify the correct code of the statements being correct or incorrect

relate to channel strategies of products (or) services.

(A) Statements (I) and (II) are correct, but (ITI) is incorrect.
(B) Statements (I) and (ITI) are correct, but (II) is incorrect.
(C) Statements (I) and (II) are incorrect, but (I1T) is correct.
(D) Statements (I), (II) and (III) are incorrect.

97. What is the study of how individuals, groups, and organizations select, buy, use and dispose
off goods, services, ideas or experiences to satisfy their needs and wants ?
(A) Target marketing (B)

Psychographic segmentation
(C) Product differentiation (D)

Consumer behaviour

98. Assertion (A) : Buyers, for several industries, are potential competitors; they may integrate
backwards.

Reason (R) :

They have different degrees of bargaining power.
(A)

Both (A) and (R) are correct and (R) is the correct reasoning of (A).

(B) Both (A) and (R) are correct and (R) is not the correct reasoning of (A).
(C) (A)is incorrect, but (R) is correct.

(D) Both (A) and (R) are incorrect.

99. The statement ‘make use of paper bags instead of plastic bags’ is related to

(A) Environmental ethics

. (B) Green marketing
(C)  Socially responsible marketing

(D) Social marketing

Which of the following can be termed as the two major com
(A)
(B)

(C)  Physical distribut: NI
i, 1stribution and Internal distribution of goods

Material Management.and Finished goods

100.

- ponents of logisticg ?
Material management and Physical distribution

SCM and Materig] management

Eod

v Space for Rough Work / 2.8¢33 doxs
| s %

| COM202301
- (50 -D1)

@ Scanned with OKEN Scanner


Admin
Stamp


967 Fevs(D): ReSmR I3 BBYobRY, ITBARIVBED (FITAN G Do0IT Todi)
RrOE3R BDERErHS BFVRY B Bl ARBDBTR) wIrieoBDHIZT.
Fewd () : BesBIIAT romogndomen RS ReSnort @eOeSZT RS g BB
Q036 N,
Fevd (I11) : g BRI TORRTN B0 BB B JboFPTY, BRoBHZS.
Bed3rY IDAIRT deed Ry, IBalrs BT Bae, rHThBD. B BedBri LV Y (VFDs) et
23R 30RO FowodIS.
(A)  Be93nW (D D) (ID) IOaNES, esa33 (111 B9, NES.
(B) ®e98nw (D ) (1) "0adreNss, 8ud (1) z9Ns
(€)  @eR3ntwd (D) DR (ID) 3zNS, 633 (I11) IONS.
(D) BevBrwv (1), (ID) SHR) (I1D) Bevo,NeS
T B30, rhodriv @) Koriwd 3, erid@nv @) engnivay 3e0mw JoBIrw, JeSrv,
B0 eTZ @mwaﬁvm Sert eahARREE, HBBWIS, VDS HF) AJeD ARSI
SR DTS OFIR BRI
(A) e3oriees® SyoScedort (B) & Beenyds® i, 0e3e3°
©) V3 =3 | (D) My®s 33
98, Z3DOT (A): BODID B3RO 20BTICD Bowed, B3 BFMveNHTIT: 3D oI BD
F00kRESTRID.
52059 (R) : OB PB TS BEWD AIF BoBAVRY, FeOBHT.
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